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E–163 

M. A. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Fifth 

(Industrial Economics) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- laxBu dh ǹf”V ls O;kolkf;d Qeks± ds izdkj gSa % 

¼v½ ,dy LokfeRo 

¼c½ lk>snkjh 

¼l½ la;qDr iw¡th dEiuh 

¼n½ ;s lHkh 



 [ 2 ] E–163 

Which of these is a type of business firm in view of 

organisation ? 

(a) Sole proprietorship 

(b) Partnership 

(c) Joint Stock Company 

(d) All of these 

2- vkS|ksxhdj.k ds lEcU/k esa lgh ugha gS % 

¼v½ xjhch esa of̀) 

¼c½ jk”Vªh; vk; esa of̀) 

¼l½ mRiknu esa of̀) 

¼n½ ns’k dk fodkl 

Which of these is not correct in relation to Industrialisation ? 

(a) Growth in poverty 

(b) Growth in  national income 

(c) Growth in production 

(d) Development of Nation 

3- vYÝsM oscj ds fl)kUr esa vkS|ksfxd LFkkuhdj.k ds dkj.k gSa % 

¼v½ ;krk;kr ykxr 

¼c½ Je ykxr 

¼l½ ;krk;kr dh nwjh 

¼n½ ;s lHkh 

Reason for Industrial localisation in Alfred Weber’s theory  

is :  

(a) Transport Cost 

(b) Labour Cost 

(c) Distance to be covered 

(d) All of these 



 [ 3 ] E–163 

 P. T. O. 

4- QeZ dh fo’ks”krk,¡ gSa % 

¼v½ ,d bdkbZ 

¼c½ Lo:i 

¼l½ vkdkj 

¼n½ ;s lHkh 

Characteristic of a firm is : 

(a) a unit 

(b) a pattern 

(c) size 

(d) All of these 

5- LFkkuhdj.k dks izHkkfor djus okys ?kVd gSa % 

¼v½ tyok;q 

¼c½ dPpk eky 

¼l½ cktkj 

¼n½ ;s lHkh 

Factors affecting localisation are : 

(a) Climate 

(b) Raw-material 

(c) Market 

(d) All of these 

6- m|ksxksa ds LFkku fu/kkZj.k fLk)kUr dk tUenkrk gS % 

¼v½ oscj 

¼c½ Fkwuu 

¼l½ ek’kZy 

¼n½ buesa ls dksbZ ugha 
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Founder of location theory of Industries is : 

(a) Weber 

(b) Thunan 

(c) Marshall 

(d) None of these 

7- eqEcbZ esa vkS|ksfxd LFkkuhdj.k esa dkSu ls m|ksx dk fodkl gqvk  

gS \ 

¼v½ yksgk ,oa bLikr m|ksx 

¼c½ lwrh oL= m|ksx 

¼l½ twV m|ksx 

¼n½ peM+k m|ksx 

Growth of which industry occurred under industrial 

localisation in Mumbai ? 

(a) Steel and Iron Industry 

(b) Cotton Industry 

(c) Jute Industry 

(d) Leather Industry 

8- jk”Vªh; mRikndrk ifj”kn~ dk eq[;ky; dgk¡ gS \ 

¼v½ ubZ fnYyh 

¼c½ eqEcbZ 

¼l½ vgenkckn 

¼n½ dksydkrk 

Where is the headquarters of National Productivity Council 

located ? 

(a) New Delhi 

(b) Mumbai 

(c) Ahmedabad 

(d) Kolkata 
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9- Hkkjr dh izFke vkS|ksfxd uhfr dc ?kksf”kr dh xbZ \ 

¼v½ 6 vizSy] 1948 

¼c½ 30 vizSy] 1956 

¼l½ 23 fnlEcj] 1977 

¼n½ 24 tqykbZ] 1991 

When was the first Industrial policy of India declared ? 

(a) 6 April, 1948 

(b) 30 April, 1956 

(c) 23 December, 1977 

(d) 24 July, 1991 

10- ubZ vkS|ksfxd uhfr] 1991 ds izeq[k rRo gSa % 

¼v½ mnkjhdj.k 

¼c½ futhdj.k 

¼l½ oS’ohdj.k 

¼n½ ;s lHkh 

Main feature of the new industrial policy of 1991 is : 

(a) Liberalisation 

(b) Privatisation 

(c) Globalisation 

(d) All of these 

11- orZeku esa ftu m|ksxksa ds fy, ykblsal ysuk vfuok;Z gS] mudh la[;k 

gS % 

¼v½ 5 

¼c½ 10 

¼l½ 8 

¼n½ 20 
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The number of those industries for which license in 

compulsory at present is : 

(a) 5 

(b) 10 

(c) 8 

(d) 20 

12- lkoZtfud {ks= ds m|ksxksa esa fofuos’k dk dkj.k gS % 

¼v½ ?kkVs dh fujUrj fLFkfr 

¼c½ fxjrh gqbZ mRikndrk 

¼l½ izcU/k dk ?kVrk Lrj 

¼n½ ;s lHkh 

Cause of the disinvestment in public sector industries is : 

(a) Persistant state of loss  

(b) Falling productivity 

(c) Decreasing level of management 

(d) All of these 

13- Hkkjr esa vkS|ksfxd fodkl cSad dh LFkkiuk dc gqbZ gS \ 

¼v½ 1 tqykbZ] 1964 

¼c½ 5 tqykbZ] 1970 

¼l½ 9 fnlEcj] 1971 

¼n½ 9 ebZ] 1964 

When was the Industrial Development Bank of India 

established ? 

(a) 1 July, 1964 

(b) 5 July, 1970 

(c) 9 December, 1971 

(d) 9 May, 1964 
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14- Hkkjrh; vkS|ksfxd lk[k ,oa fofu;ksx fuxe dh LFkkiuk dc gqbZ \ 

¼v½ 1 tuojh] 1960 

¼c½ 31 ekpZ] 1960 

¼l½ 5 tuojh] 1955 

¼n½ 31 ekpZ] 1968 

When was the Industrial Credit and Investment Corporation 

of India established in : 

(a) 1 January, 1960 

(b) 31 March, 1960 

(c) 5 January, 1955 

(d) 31 March, 1968 

15- ujflEge lfefr dk xBu gqvk % 

¼v½ 1948 esa 

¼c½ 1991 esa 

¼l½ 1964 esa 

¼n½ 2004 esa 

Narasimham Committee was established in : 

(a) 1948 

(b) 1991 

(c) 1964 

(d) 2004 

16- Hkkjr esa LVhy vFkkWfjVh vkWQ bf.M;k (SAIL) dh LFkkiuk dc dh 

xbZ Fkh \ 

¼v½ 1947 

¼c½ 1970 

¼l½ 1974 

¼n½ 1981 
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When was Steel Authority of India (SAIL) established in 

India ? 

(a) 1947 

(b) 1970 

(c) 1974 

(d) 1981 

17- jk”Vªh; oL= fuxe fyfeVsM dh LFkkiuk gqbZ % 

¼v½ vizSy] 1968 esa 

¼c½ ebZ] 1970 esa 

¼l½ tqykbZ] 1971 esa 

¼n½ vizSy] 1975 esa 

National Textile Corporation Limited was established in : 

(a) April, 1968 

(b) May, 1970 

(c) July, 1971 

(d) April, 1975 

18- Hkkjr esa phuh feyksa dh lcls vf/kd la[;k fdl jkT; esa gS \ 

¼v½ egkjk”Vª 

¼c½ mŸkj izns’k 

¼l½ vka/kz izns’k  

¼n½ dukZVd 

Which Indian State has largest sugar mills ? 

(a) Maharashtra  

(b) Uttar Pradesh 

(c) Andhra Pradesh 

(d) Karnataka 
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19- y?kq m|ksxksa dh leL;k,¡ gSa % 

¼v½ dPps eky dh leL;k 

¼c½ rduhd dh leL;k 

¼l½ foŸk dh leL;k 

¼n½ ;s lHkh 

Problems of small scale industries are :  

(a) Problem of raw material 

(b) Problem of technique 

(c) Problem of finance 

(d) All of these 

20- vfr y?kq {ks= esa fofu;ksftr iw¡th dh ek=k 2014&15 esa Fkh % 

¼v½ 25 yk[k 

¼c½ 10 yk[k 

¼l½ 60 yk[k 

¼n½ 5 yk[k 

In 2014&15 Invested Capital in tiny sector was : 

(a) 25 lakh 

(b) 10 lakh 

(c) 60 lakh 

(d) 5 lakh 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A nks&rhu okD;ksa esa mŸkj nhft,A 

 Attempt all questions. Give answer in 2-3 sentences. 

1- ßizfrfuf/k QeZÞ ds fopkj dk izfriknu fdlus fd;k \ 

Who propounded the idea of a Representative firm ? 
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2- vkS|ksfxd LFkkuhdj.k ds nks izeq[k fl)kUrksa ds uke fyf[k,A 

Enumerate two main theories of Industrial Localisation. 

3- lkoZtfud {ks= ls D;k vk’k; gS \ 

What do you mean by Public Sector ? 

4- Hkkjr esa futhdj.k ls D;k rkRi;Z gS \ 

What is Privatisation in India ? 

5- fofuos’k dk D;k vFkZ gS \ 

What is meant by Disinvestment ? 

6- ubZ vkS|ksfxd uhfr dh izeq[k ckrsa D;k gSa \ 

What are the main features of the new industrial policy ? 

7- yksgk ,oa bLikr m|ksx dh nks leL;k,¡ crkb,A 

Discuss two problems of Iron and Steel Industry. 

8- lkekftd lqj{kk ls vki D;k le>rs gSa \ 

What do you understand by Social Security ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A yxHkx 75 ‘kCnksa esa mŸkj nhft,A 

 Attempt all questions. Answer within  75 words. 

1- Hkkjr esa vkS|ksfxd fiNM+siu ds dkj.k crkb,A 

Give reasons for industrial backwardness in India. 

2- lk>snkjh laxBu ls vki D;k le>rs gSa \ 

What do you understand by Partnership Organisation ? 
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3- Hkkjr dh ubZ vkfFkZd uhfr D;k gS \ 

What is new economic policy of India ? 

4- vkS|ksfxd mRikndrk dks izHkkfor djus okys pkj rRo crkb,A 

Explain the four factors affecting Industrial productivity. 

5- Hkkjr esa Hkwe.Myhdj.k D;k gS \ 

What is Globalisation in India ? 

6- vkS|ksfxd foŸk ds lzksrksa dks le>kb,A 

Explain the sources of Industrial Finance. 

7- vkS|ksfxd lEcU/k dks le>kb,A 

Explain the Industrial relation. 

8- y?kq ,oa dqVhj m|ksxksa dh D;k leL;k,¡ gSa \ 

What are the problems of small and cottage industries ? 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % izR;sd iz’u dk mŸkj yxHkx 150 ‘kCnksa esa nhft,A 

 Attempt all questions. Each answer should be in  150 

words. 

1- ,d QeZ dh vo/kkj.kk ,oa mís’;ksa dks crkb,A 

State the concept of a firm and point out the objectives of the 

firm. 

vFkok 

(Or) 

vkS|ksxhdj.k ,oa df̀”k ds chp D;k lEcU/k gS \ 

What is the relation between Industrialisation and  

Agriculture ? 
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2- 1991 dh vkS|ksfxd uhfr dh izeq[k fo’ks”krkvksa dh O;k[;k dhft,A 

Describe the main features of Industrial Policy of 1991. 

vFkok 

(Or) 

Hkkjr ljdkj }kjk m|ksxksa ds futhdj.k dh uhfr D;ksa viukbZ xbZ  

gS \ 

Why Govt. of India has adopted the policy of privatization of 

Industries ? 

3- m|ksxksa ds nh?kZdkyhu foŸk ds lzksr D;k gSa \ 

What are the sources of long-term fund for industry ? 

vFkok 

(Or) 

O;kikfjd cSadksa ds dk;ks± dk o.kZu dhft,A 

Explain the functions of Commercial Banks.  

4- vkS|ksfxd la?k”kks± ds izeq[k dkj.k D;k gSa \ 

What are main causes of Industrial Dispute ? 

vFkok 

(Or) 

Hkkjrh; vFkZO;oLFkk esa y?kq ,oa dqVhj m|ksxksa ds egRo dks le>kb,A 

Explain the importance of small and cottage industry in 

Indian Economy. 
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